
PV-ezRack SolarRoof
ER-TL-15/30

ER-SP-ST

ER-TL-30/60

ER-IC-ST

ER-R-ST

ER-EC-ST

ER-EC-V/HP90

Tilt Legs, adjustable 15/30 degree

Splice for Standard Rail

 Tilt Legs, adjustable 30/60 degree

Inter Clamp, Standard

Standard Rail

End Clamp, Standard

– Outer Tube 350                      
– Fix Foot                                 
– L Feet-A                                 
– Lock Washer 8mm (5/16") A2     
– Hex Socket Head Bolt M8 x 40mm 
   (5/16" x 1-37/64")
– Hex Socket Head Bolt M8 x 55mm 
   (5/16" x 2-11/64")
– Washer 8.4mm (21/64") DIN 9021 A2
– Hex Socket Head Bolt M8 x 25mm 
   (5/16" x 63/64")
– Hex Head Wood Screw 6 x 80mm 
   (15/64" x 3-5/32"), thread: 80mm 
   (3-5/32")
– Inner Tube 350 
– U-Bracket 
– Z-Module
– Rubber Pads

– Splice with a standard length of 
   200mm (7/8")
– Hex Socket Head Bolt 
   M8 x 18mm (5/16" x 45/64")

– Outer Tube 635                          
– Fix Foot                                      
– L Feet-A                                     
– Lock Washer 8mm (5/16") A2     
– Hex Socket Head Bolt M8 x 40mm 
   (5/16" x 1-37/64")
– Hex Socket Head Bolt M8 x 55mm 
   (5/16" x 2-11/64")
– Washer 8.4mm (21/64") DIN 9021 A2
– Hex Socket Head Bolt M8 x 25mm 
   (5/16" x 63/64")
– Hex Head Wood Screw 6 x 80mm 
   (15/64" x 3-5/32"), thread: 80mm 
   (3-5/32")
– Inner Tube 635 
– U-Bracket
– Z-Module
– Rubber Pads

– Inter Module Clamp 28mm (1-7/64"), 
   35mm (1-3/8"), 40mm (1-37/64"), 
   46mm (1-13/16"), 50mm (1-31/32"), 
   57mm (2-1/4")
– 28mm (1-7/64") with Hex Socket Head 
   Bolt A2-70 M8x40mm (5/16" x 1-37/64")
– 35mm (1-3/8") with Hex Socket Head 
   Bolt A2-70 M8x45mm (5/16" x 1-49/64")
– 40mm (1-37/64") with Hex Socket Head 
   Bolt A2-70 M8x50mm (5/16" x 1-31/32")
– 46mm (1-13/16") with Hex Socket Head 
   Bolt A2-70 M8x55mm (5/16" x 2-11/64")
– 50mm (1-31/32") with Hex Socket Head 
   Bolt A2-70 M8x60mm (5/16" x 2-23/64")
– 57mm (2-1/4") with Hex Socket Head 
   Bolt A2-70 M8x70mm (5/16" x 2-3/4")
– Z-Module
– Lock Washer 8.4mm (21/64")

– With a standard lengths of 
   2560mm (8' 4-25/32"), 
   3150mm (10' 4-1/64")
   3405mm (11' 2-1/16") 
   4200mm (13' 9-23/64")

– End Module Clamp 
   28mm (1-7/64")
   30mm (1-3/16")
   32mm (1-17/64")
   35mm (1-3/8")
   38mm (1-1/2")
   40mm (1-37/64")
   42mm (1-21/32")
   46mm (1-13/16")
   48mm (1-57/64")
   50mm (1-31/32")
   57mm (2-1/4")
– Z-Module
– Hex Socket Head Bolt A2-70 M8 x   
   28mm (5/16"x 1-1/10")
– Lock Washer 8.4mm (21/64")

06

– HP End Clamp 90
– Z Moudle 
– Hexagon socket head cap sorew
– M8 x 65mm (5/16" x 2-23/63")
– Washer 8mm (5/16")

Module End Clamp HP Series, for 
Volther 90mm hybrid panel


